Chapter 1: Concurrency: A High-level Overview
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Chapter 2: Go Concurrency Primitives
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Chapter 3: The Go memory model
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Chapter 4: Some well-known concurrency problems
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Fixed capacity token bucket

> Every request consumes a token.
Tokens added at a fixed rate If there are no tokens in the bucket
(rate = 2/sec) request waits.
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Chapter 5: Worker pools and pipelines

for each file | |_prange allResults |
. range resultCh {
3 <jobs <- Work{...} <

allResults <- ch _|

}

close(allResults)—"]

for work := raghe 1?5; {

work.result <- Result{...}

close (work.result)
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input[e]

data <- input[0]
fanIn <- record{
<-pause

0, data, pause}

input[l!

data <- input[1]
fanIn <- record{
<-pause

1, data, pause}

receive record from fanIn

if out of order

list[record.index]=record

else

output <- record.data
record.pause<-struct{}{}

for each record in list

if correct order
output <- record.data
list[record.index]=nil

record.pause<-struct{}{}




L data, ok <- channels[index]
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for !allDone

| d.pause <- struct{}{}
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Chapter 6: Error handling

No-images...



Chapter 7: Timers and Tickers

Timer Timer
NewTimer () NewTimer () :—'
Stop () timer.C<-Now ()
true Stop() —t
timer due false ‘

Ticker Ticker Ticker




Chapter 8: Handling requests concurrently

ctx0:=context.Background()

ctx0
done: nil

ctx1, cance11:=coqkext.WithCancel(ctx)

go func

ctxl — cancell —
done: chni if chnl open {
close(chnl)
b
ctx2, cancel2:=confext.wWithCancel(ctx1)
ctx2 — cancel2
done: chn2 if chn2 open {
close(chn2)
}

when chnl canceled:
if chn2 open {
close(chn2)
}
when chn2 canceled:
return




Chapter 9: Atomic memory operations
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Chapter 10: Troubleshooting Concurrency Issues
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